EARAROBREBRT —5 XN—ZXBISH—F

2024548168 CA) 1EIEAI2H

Y >%—ik C3hnt+

‘(fﬁ} W ‘I%EH?’JF&] | & 1500 =

[AE%] 1 7% :800,000F  27&:320,000 M  337%&:200,000H” ~ 43:120,000H . 5 7&:80,000 M

B RS RS M MHE BF (F8) |94L (BF) | @Bl | E3F |SiEH | AR | #E | A6 (R / B / £EWS
o= < i 7 | RESE 1:40.7 33222 |41.6| — | 4 | 453 |EEES CAAD)
118010/ N=/ VBV 54.0 ) 4e) | ) 1B
RIV—AUY R 8:TU—ZRAA—F Wl KB
= # 5 | PR 1:40.8 1-1-1-1 | 42,0 — | 3 | 462 |{EEEEHC ()
2178 |H3TX 54.0 (72 ) | B =yyrm—LF1vTR
R:O—RAFOP B:AYI—UL FrIEAYRTF—I
——- BIERES : -5-5- - PEEsE (1
3 JIS=ULvY * 6 | OEE oA IR R = R
RiFAIATv— BTALA—WLF1ETY— "HET7—I
ITTHIAR 2 -7-4- - N\WWEE (Rf)
. X EEEEEEEE i 6 | BT 1.{132).9 6-7-4-3 | 43.0 2 21333) it
RiFYSANVR 8:70Y KT vT TIA FHIG
<, = H : -8-5- - EH J
5 TALYIVIUAT LA Srnjll_ox 1.?13).1 7-8-5-7 | 43.1 7 21_747) EEE%; GRRD)
RibhwPO—UR B:rhAT7FA b 4R
— ) 4 6 | HIR 1:43.2 8-6-5-6 |43.2| — 1 450 [BH—R G
6 bty 54.0 ar) 3 |CEmE
Rib—€YI7Y L B:ib—tYRIYYY2 BREME IRT4T7—L
7 | BIS 1:43.3 10-10-10-8 | 41.8 | — 9 | 448 |WEER (&)
715|537 540 (/2) o |JEKE 3
R:ALYTSvIE B:ZIANLYU— [aie
— oy hEBR% 3 -2-3- - NS ()
gl7l 7 HFSAXET ~ 4 6 oS 1.6133).9 2-2-3-4 | 44.8 5 (4353; A
R:Z9U—vke—0O— BRARXTVTT— HE A
w 77~ v 4 | BEX 1:44.4 4-4-8-9 | 44.4| — 6 | 473 |BOEZ CEAD)
9(8|9|O¥TIY 5.0 @172 (2 |HBEX
Ri:FTWRI— #:FOTa1—Vay HR&# PRIDE ROCK
o SEBET 2 -9-9- - HO—R G
10111 Zz7U—=NoKy o4 54_()%_1 1.216.‘;.6 9-9-9-10 | 44.2 10 (4:43) mﬂmg (i)
RiFA—RITAT 1« B ARAU—NNTRYT TREYE
@ 11— —@BIE(I
13—3+— |8,7,10,9,3,6,2,4,1.,5
20—7— |[8,7,10,9,3,4,6,2,1,5
30—73— |8,10,7,6,(2,3,4),9,1,5
4J—7— |(8,10,6,7,3,4,2,5,9,1
@ ILRE
B B 10 1,240 | [ DA R 8-10 710 | | # = 7-8 900Fd | | 3= 3-8-10 13,850M
B B 10 280 3-10 2,010 | | #& & 8-7 2,400H | | 3E:& 10-8-3 83,280MH
8 180M 3-8 1,560 | | &5 = 8-10 2,180M
3 430M 5y 10-8 6,060

ABIC OV TRUTEREERRODDZE. THRIIZEL.




